TOP STACK

FROM POWER SOURCE SYSTEM (SEE PAGE 62)
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SERVICE HINTS

T2 TOP STACK CONTROL SW
3-5
3-6 :

T3 TOP STACK MAIN RELAY

: CLOSED WITH THE TOP STACK SW AT OPEN POSITION
CLOSED WITH THE TOP STACK SW AT CLOSE POSITION

4-GROUND : APPROX. 12 VOLTS WITH THE IGNITION SW AT ON POSITION
1-GROUND : 4 PULSE WITH 1 ROTATION OF ROTOR SHAFT
2-GROUND : ALWAYS CONTINUITY

O :

PARTS LOCATION

CODE SEE PAGE CODE SEE PAGE CODE SEE PAGE
co 32 T3 33 T8 37
J7 33 T6 37 T9 37
T2 33 T7 37 Vi 29 (5S-FE)
O : JUNCTION BLOCK AND WIRE HARNESS CONNECTOR
CODE SEE PAGE JUNCTION BLOCK AND WIRE HARNESS (CONNECTOR LOCATION)
ID
E 20 INSTRUMENT PANEL AND FLOOR WIRE (LEFT KICK PANEL)
3B
c 24 INSTRUMENT PANEL WIRE AND J/B NO.3 (BEHIND THE INSTRUMENT PANEL CENTER)
D : CONNECTOR JOINING WIRE HARNESS AND WIRE HARNESS
CODE SEE PAGE JOINING WIRE HARNESS AND WIRE HARNESS (CONNECTOR LOCATION)
IG1 42 INSTRUMENT PANEL WIRE AND FLOOR WIRE WIRE (LEFT KICK PANEL)
IH1 42 FLOOR WIRE AND INSTRUMENT PANEL WIRE (LEFT KICK PANEL)
I
a4 ENGINE WIRE AND INSTRUMENT PANEL WIRE (NEAR THE ENGINE CONTROL MODULE)

: GROUND POINTS

T6 BLACK

T7 BLACK

(HINT : SEE PAGE 7)

T8 BLACK

T9 BLACK

CODE SEE PAGE GROUND POINTS LOCATION
IE 42 INSTRUMENT PANEL BRACE LH
BH 50 (CONVERTIBLE) | UNDER THE LEFT CENTER PILLAR
O - SPLICE POINTS
CODE SEE PAGE WIRE HARNESS WITH SPLICE POINTS CODE SEE PAGE WIRE HARNESS WITH SPLICE POINTS
B13 50 (CONVERTIBLE) | FLOOR WIRE
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